Unit 1 Optional Assignment: Chemical Analysis Answer Key
34.        Al(C6H5)3 + 3HCl ( AlCl3 + 3C6H6
                                                             0.951 g
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36. CxHy + O2 (  CO2     +      H2O

          0.438 g            1.481 g        0.303 g


[image: image3.wmf]

 EMBED Equation.3  [image: image4.wmf]C

mol

CO

mol

C

mol

CO

g

CO

mol

CO

g

0337

.

0

1

1

44

1

481

.

1

2

2

2

2

=

´

´



[image: image5.wmf]H

mol

O

H

mol

H

mol

O

H

g

O

H

mol

O

H

g

0336

.

0

1

2

18

1

303

.

0

2

2

2

2

=

´

´



[image: image6.wmf]( 1 mol C: 1 mol H (  CH is the empirical formula

38.    Answer = C10H20O

40.   Answer = SiH4
AP Question

Part (a)  Hints: 

Set up the three different reactions like so:

CvHwNxOyClz + O2 (   CO2   +     H2O

      0.150 g                   0.138 g     0.0566 g

CvHwNxOyClz +  doesn’t matter    (   NH3   +    everything else

      0.200 g                                         0.0238 g

CvHwNxOyClz +  doesn’t matter  (   AgCl   + everything else

      0.125 g                                        0.251 g

Using the first reaction, calculate how many GRAMS of C are in the compound from mass of CO2. Divide this mass by the entire mass, 0.150 g, and you now have the % of C.

Using the first reaction, calculation how many GRAMS of H are in the compound from mass of CO2. Divide this mass by the entire mass, 0.150 g, and you now have the % of H.

Using the second reaction, calculate how many GRAMS of N are in the compound from mass of NH3. Divide this mass by the entire mass, 0.0238 g, and you now have the % of N.

Using the third reaction, calculate how many GRAMS of Cl are in the compound from mass of AgCl. Divide this mass by the entire mass, 0.251 g, and you now have the % of Cl.

Subtract these percentages from 100% to get the % of O.

Part (b)  Hint:

Using the percent composition from Part(a), assume you have a 100 g sample.

Answer = C3H6NCl2O
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